

## Certain New Ramanujan Type Theta Function Identities

Siddaraju\* and G. Vinay\*\*

\*Department of Mathematics, Government First Grade College for Women,  
Chamarajanagara - 571313, INDIA.

E-mail: [siddupalya73@gmail.com](mailto:siddupalya73@gmail.com)

\*\*Department of Mathematics, Yuvaraja's College,  
University of Mysore, Mysuru - 570 005, INDIA.

E-mail: [vinaytalakad@gmail.com](mailto:vinaytalakad@gmail.com)

### Abstract

In this article, we prove an interesting summation formula. From this summation formula we prove certain theta function identities which are analogous to that of Ramanujan.

**Keywords :** Ramanujan theta function, Basic bilateral Hypergeometric series, q-series.

**2020 Mathematics Subject Classification :** 33C75, 33D15 and 33D99.

## 1 Introduction

For any complex numbers  $a$  and  $q$ , let

$$(a; q)_{\infty} = \prod_{n=0}^{\infty} (1 - aq^n), \quad |q| < 1$$

and

$$(a; q)_n = \frac{(a; q)_{\infty}}{(aq^n; q)_{\infty}}, \quad n \text{ is any integer.}$$

In Chapter 16 of his second notebook, Ramanujan defined

$$f(a, b) = \sum_{n=-\infty}^{\infty} (-1)^n a^{\frac{n(n+1)}{2}} b^{\frac{n(n-1)}{2}}, \quad |ab| < 1.$$

By the well known Jacobi triple product identity, we have

$$f(a, b) = (-a; ab)_{\infty} (-b; ab)_{\infty} (ab; ab)_{\infty}. \quad (1.1)$$

Further, Ramanujan also defines

$$\varphi(q) := f(q, q) = \sum_{n=-\infty}^{\infty} q^{n^2} = (-q; q^2)_{\infty}^2 (q^2; q^2)_{\infty},$$

$$\psi(q) := f(q, q^3) = \sum_{n=0}^{\infty} q^{\frac{n(n+1)}{2}} = \frac{(q^2; q^2)_{\infty}}{(q; q^2)_{\infty}},$$

and

$$f(-q) := f(-q, -q^2) = \sum_{n=-\infty}^{\infty} (-1)^n q^{\frac{n(3n+1)}{2}} = (q; q)_{\infty}.$$

In scattered places of his notebook, Ramanujan recorded many identities of the following type :

$$\varphi^2(q)\varphi^2(q^3) = 1 + 4\left(\frac{q}{1-q} + \frac{4q^4}{1-q^4} + \frac{5q^5}{1-q^5} + \frac{7q^7}{1-q^7} + \dots\right) \quad (1.2)$$

and

$$\frac{f^5(-q)}{f(-q^5)} = 1 - 5\left(\frac{q}{1+q} - \frac{3q^3}{1+q^3} + \frac{4q^4}{1+q^4} - \frac{7q^7}{1+q^7} + \frac{9q^9}{1+q^9} + \frac{11q^{11}}{1+q^{11}} - \frac{12q^{12}}{1+q^{12}} - \dots\right). \quad (1.3)$$

Ramanujan recorded (1.2) and (1.3) respectively in [4, p. 225] and [4, p. 229].

In this paper, we derive the following summation formula :

$$\sum_{n=-\infty}^{\infty} \frac{a^{-n}q^n}{(1-aq^n)^2} = \frac{(q; q)_{\infty}^4}{(a; q)_{\infty}^2 (\frac{q}{a}; q)_{\infty}^2}, \quad |q| < |a| < 1. \quad (1.4)$$

From this we deduce following identities analogous to (1.2) and (1.3).

$$\begin{aligned} \left(\sum_{n=0}^{\infty} \frac{(n+1)q^{5n}}{(1-q^{25n+20})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{20n+20}}{(1-q^{25n+30})}\right) - q^2 \left(\sum_{n=0}^{\infty} \frac{(n+1)q^{10n}}{(1-q^{25n+15})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{15n+15}}{(1-q^{25n+30})}\right) \\ = \frac{f_1 f_{25}^4}{f_5} + q \frac{f_{25}^5}{f_5}, \end{aligned} \quad (1.5)$$

$$\begin{aligned} 4q^8 \left(\sum_{n=0}^{\infty} \frac{(n+1)q^{5n}}{(1-q^{50n+45})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{45n+45}}{(1-q^{50n+55})}\right) + 4q^2 \left(\sum_{n=0}^{\infty} \frac{(n+1)q^{5n}}{(1-q^{50n+35})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{35n+35}}{(1-q^{50n+65})}\right) \\ = \frac{f_1^4}{f_2^2} + \frac{f_{25}^4}{f_{50}^2} - 2 \frac{f_1^2 f_{25}^2}{f_2 f_{50}} - 4q^5 \frac{f_5 f_{30}^3}{f_{10} f_{25}}, \end{aligned} \quad (1.6)$$

$$\begin{aligned} \left(\sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1-q^{12n+10})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{10n+10}}{(1-q^{12n+14})}\right) + q \left(\sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1-q^{12n+8})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{8n+8}}{(1-q^{12n+16})}\right) \\ = \frac{f_4^6 f_6^2 f_{12}^2}{f_2^4 f_8^2} + q \frac{f_{12}^6}{f_2^2 f_8^2}, \end{aligned} \quad (1.7)$$

$$\begin{aligned} \left(\sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1-q^{12n+10})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{10n+10}}{(1-q^{12n+14})}\right) - q \left(\sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1-q^{12n+8})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{8n+8}}{(1-q^{12n+16})}\right) \\ = \frac{f_4^6 f_6^2 f_{12}^2}{f_2^4 f_8^2} - q \frac{f_{12}^6}{f_2^2 f_8^2}, \end{aligned} \quad (1.8)$$

$$q \left(\sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1-q^{8n+7})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{7n+7}}{(1-q^{8n+9})}\right) - \left(\sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1-q^{8n+5})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{5n+5}}{(1-q^{8n+11})}\right) = \frac{f_2 f_4^4 f_8^2}{f_1^3}, \quad (1.9)$$

$$q \left( \sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1-q^{8n+7})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{7n+7}}{(1-q^{8n+9})} \right) + \left( \sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1-q^{8n+5})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{5n+5}}{(1-q^{8n+11})} \right) = \frac{f_2^8 f_8^2}{f_1^5 f_4^3}, \quad (1.10)$$

and

$$q^2 \left( \sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1-q^{12n+11})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{11n+11}}{(1-q^{12n+13})} \right) + \left( \sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1-q^{12n+7})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{7n+7}}{(1-q^{12n+17})} \right) = \frac{f_2^3 f_6^3}{f_1^2}. \quad (1.11)$$

We prove (1.4) by using the following well known Ramanujan's  ${}_1\psi_1$  summation formula :

$$\sum_{n=-\infty}^{\infty} \frac{(a; q)_n}{(b; q)_n} z^n = \frac{(az; q)_{\infty} \left(\frac{a}{az}; q\right)_{\infty} \left(\frac{b}{a}; q\right)_{\infty} (q; q)_{\infty}}{(z; q)_{\infty} \left(\frac{b}{az}; q\right)_{\infty} \left(\frac{a}{a}; q\right)_{\infty} (b; q)_{\infty}}, \quad |q| < 1, \quad \left| \frac{b}{a} \right| < |z| < 1. \quad (1.12)$$

For a quite different proof of (1.4) one can refer [6]. In Section 2, we recall the known identities which are required to prove our main result. In Section 3, we prove (1.4) and establish the seven new identities (1.5) - (1.11).

## 2 Preliminary Results

For convenience, we set  $f(-q^n) = f_n$  for positive integer  $n$ . It is easy to see that

$$\varphi(q) = \frac{f_2^5}{f_1^2 f_4^2}, \quad \varphi(-q) = \frac{f_1^2}{f_2}, \quad \psi(q) = \frac{f_2^2}{f_1}, \quad f(q) = \frac{f_2^3}{f_1 f_4}, \quad \text{and} \quad \chi(q) = \frac{f_2^2}{f_1 f_4}. \quad (2.1)$$

We require the following theta function identities :

$$\varphi\left(q^{\frac{1}{5}}\right) - \varphi\left(q^5\right) = 2q^{\frac{1}{5}} f\left(q^3, q^7\right) + 2q^{\frac{4}{5}} f\left(q, q^9\right), \quad (2.2)$$

$$f(-q) \left\{ f\left(-q^{\frac{1}{5}}\right) + q^{\frac{1}{5}} f\left(-q^5\right) \right\} = f^2\left(-q^2, -q^3\right) - q^{\frac{2}{5}} f^2\left(-q, -q^4\right), \quad (2.3)$$

$$f\left(-q^5, -q^7\right) - qf\left(-q, -q^{11}\right) = \frac{\varphi\left(q^3\right)}{\chi\left(q\right)}, \quad (2.4)$$

$$f\left(-q^5, -q^7\right) + qf\left(-q, -q^{11}\right) = f\left(q\right), \quad (2.5)$$

and

$$T^2\left(q^2\right) + qS^2\left(q^2\right) = \frac{1}{f_8^2} \left[ \psi^2\left(q^2\right) + q\psi^2\left(q^6\right) \right], \quad (2.6)$$

$$S_1\left(q\right) S_1\left(q\right) + qT_1\left(q\right) T_1\left(q\right) = \left\{ \frac{f_2 f_2}{f_1 f_4} \right\}^3, \quad (2.7)$$

$$S_1\left(q\right) S_1\left(q\right) - qT_1\left(q\right) T_1\left(q\right) = \frac{f_4 f_4}{f_1 f_2} \left\{ \frac{f_4}{f_8} \right\}^2, \quad (2.8)$$

where

$$S(q) = \frac{(-q; q^2)_{\infty} (q^6; q^6)_{\infty} (q; q^6)_{\infty} (q^5; q^6)_{\infty}}{(q^2; q^2)_{\infty}},$$

$$T(q) = \frac{(-q; q^2)_\infty (q^6; q^6)_\infty (q^2; q^6)_\infty (q^4; q^6)_\infty}{(q^2; q^2)_\infty},$$

$$S_1(q) = \frac{1}{(q; q^8)_\infty (q^4; q^8)_\infty (q^7; q^8)_\infty},$$

and

$$T_1(q) = \frac{1}{(q^3; q^8)_\infty (q^4; q^8)_\infty (q^5; q^8)_\infty}.$$

For proofs of (2.2) and (2.3), see [2, p. 262]. For proofs of (2.4) and (2.5), one can refer [5]. (2.6) is found in [1]. For proofs of (2.7) and (2.8), one may refer [3].

### 3 Main results

**Proof of (1.4) :** Setting  $b = aq$  in (1.12), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{z^n}{1 - aq^n} = \frac{(az)_\infty \left(\frac{q}{az}\right)_\infty (q)_\infty^2}{(z)_\infty \left(\frac{q}{z}\right)_\infty (a)_\infty \left(\frac{q}{a}\right)_\infty}.$$

Differentiating the above, w.r.t  $a$ , and using the fact that  $f'(a) = f(a) \frac{d}{da} \log f(a)$  in the right-hand side of the above, we find that

$$\begin{aligned} & \sum_{n=-\infty}^{\infty} \frac{z^n q^n}{(1 - aq^n)^2} \\ &= \frac{(azq)_\infty \left(\frac{q}{az}\right)_\infty (q)_\infty^2}{(z)_\infty \left(\frac{q}{z}\right)_\infty (a)_\infty \left(\frac{q}{a}\right)_\infty} \left[ -z + (1 - az) \left\{ -\sum_{n=1}^{\infty} \frac{zq^n}{1 - aq^n} + \sum_{n=0}^{\infty} \frac{\frac{q^{n+1}}{a^2 z}}{1 - \frac{q^{n+1}}{az}} + \sum_{n=0}^{\infty} \frac{q^n}{1 - aq^n} - \sum_{n=0}^{\infty} \frac{\frac{q^{n+1}}{a^2}}{1 - \frac{q^{n+1}}{a}} \right\} \right]. \end{aligned}$$

Setting  $z = \frac{1}{a}$  in the above, we obtain

$$\sum_{n=-\infty}^{\infty} \frac{\left(\frac{q}{a}\right)^n}{(1 - aq^n)^2} = \frac{(q)_\infty^4}{(a)_\infty^2 \left(\frac{q}{a}\right)_\infty^2}.$$

This completes the proof of (1.4).

**Proof of (1.5) :** Using (1.1) on the right-hand side of the (1.4), we find that

$$\sum_{n=-\infty}^{\infty} \frac{\left(\frac{q}{a}\right)^n}{(1 - aq^n)^2} = \frac{(q; q)_\infty^6}{f^2\left(-a, \frac{-q}{a}\right)}. \quad (3.1)$$

Replacing  $q$  by  $q^5$  in (3.1), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{5n} a^{-n}}{(1 - aq^{5n})^2} = \frac{f_5^6}{f^2\left(-a, \frac{-q^5}{a}\right)}. \quad (3.2)$$

Setting  $a = q$  in (3.2), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{4n}}{(1 - q^{5n+1})^2} = \frac{f_5^6}{f^2(-q, -q^4)}. \quad (3.3)$$

Setting  $a = q^2$  in (3.2), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{3n}}{(1 - q^{5n+2})^2} = \frac{f_5^6}{f^2(-q^2, -q^3)}. \quad (3.4)$$

Subtracting  $q^{\frac{2}{5}}$  times of (3.4) from (3.3), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{4n}}{(1 - q^{5n+1})^2} - q^{\frac{2}{5}} \sum_{n=-\infty}^{\infty} \frac{q^{3n}}{(1 - q^{5n+2})^2} = f_5^6 \left[ \frac{f^2(-q^2, -q^3) - q^{\frac{2}{5}} f^2(-q, -q^4)}{f^2(-q, -q^4) f^2(-q^2, -q^3)} \right].$$

Using (2.3) in the right-hand side of the above, we find that

$$\sum_{n=-\infty}^{\infty} \frac{q^{4n}}{(1 - q^{5n+1})^2} - q^{\frac{2}{5}} \sum_{n=-\infty}^{\infty} \frac{q^{3n}}{(1 - q^{5n+2})^2} = \frac{f_5^6 f_1 \left[ f\left(-q^{\frac{1}{5}}\right) + q^{\frac{1}{5}} f_5 \right]}{f_1^2 f_5^2}.$$

Changing  $q$  to  $q^5$  in the above and simplifying right-hand side, we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{20n}}{(1 - q^{25n+5})^2} - q^2 \sum_{n=-\infty}^{\infty} \frac{q^{15n}}{(1 - q^{25n+10})^2} = \frac{f_1 f_{25}^4}{f_5} + q \frac{f_{25}^5}{f_5}.$$

Observing that  $\frac{1}{(1-q)^2} = \frac{d}{dq} \left( \sum_{n=0}^{\infty} q^n \right) = \sum_{n=1}^{\infty} nq^{n-1}$ , we obtain

$$\begin{aligned} \left( \sum_{n=0}^{\infty} \frac{(n+1)q^{5n}}{(1 - q^{25n+20})^2} + \sum_{n=0}^{\infty} \frac{(n+1)q^{20n+20}}{(1 - q^{25n+30})^2} \right) - q^2 \left( \sum_{n=0}^{\infty} \frac{(n+1)q^{10n}}{(1 - q^{25n+15})^2} + \sum_{n=0}^{\infty} \frac{(n+1)q^{15n+15}}{(1 - q^{25n+35})^2} \right) \\ = \frac{f_1 f_{25}^4}{f_5} + q \frac{f_{25}^5}{f_5}. \end{aligned}$$

This completes the proof of (1.5).

**Proof of (1.6) :** Replacing  $q$  by  $q^{10}$  in (3.1), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{10n} a^{-n}}{(1 - aq^{10n})^2} = \frac{f_{10}^6}{f^2\left(-a, \frac{-q^{10}}{a}\right)}. \quad (3.5)$$

Setting  $a = q$  in (3.5), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{9n}}{(1 - q^{10n+1})^2} = \frac{f_{10}^6}{f^2(-q, -q^9)}. \quad (3.6)$$

Setting  $a = q^3$  in (3.5), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{7n}}{(1 - q^{10n+3})^2} = \frac{f_{10}^6}{f^2(-q^3, -q^7)}. \quad (3.7)$$

Adding  $q^{\frac{6}{5}}$  times of (3.6) and (3.7), we obtain

$$q^{\frac{6}{5}} \sum_{n=-\infty}^{\infty} \frac{q^{9n}}{(1 - q^{10n+1})^2} + \sum_{n=-\infty}^{\infty} \frac{q^{7n}}{(1 - q^{10n+3})^2} = \frac{f_{10}^6 \left[ q^{\frac{6}{5}} f^2(-q, -q^9) + f^2(-q^3, -q^7) \right]}{f^2(-q, -q^9) f^2(-q^3, -q^7)},$$

Employing (2.2) on the right-hand side of the above, we obtain

$$\begin{aligned} 4q^{\frac{8}{5}} \sum_{n=-\infty}^{\infty} \frac{q^{9n}}{(1 - q^{10n+1})^2} + 4q^{\frac{2}{5}} \sum_{n=-\infty}^{\infty} \frac{q^{7n}}{(1 - q^{10n+3})^2} \\ = \frac{f_2^2 f_5^2}{f_1^2} \left[ \varphi(-q^{\frac{1}{5}}) + \varphi^2(-q^5) - 2\varphi(-q^{\frac{1}{5}}) \varphi(-q^5) - 4q \frac{f_1 f_{10}^3}{f_2 f_5} \right]. \end{aligned}$$

Changing  $q$  by  $q^5$  in the above and using (2.1) on the right-hand side of the above, we obtain

$$4q^8 \sum_{n=-\infty}^{\infty} \frac{q^{9n}}{(1 - q^{10n+1})^2} + 4q^2 \sum_{n=-\infty}^{\infty} \frac{q^{7n}}{(1 - q^{10n+3})^2} = \frac{f_1^4}{f_2^2} + \frac{f_{25}^4}{f_{50}^2} - 2 \frac{f_1^2 f_{25}^2}{f_2 f_{50}} - 4q^5 \frac{f_5 f_{50}^3}{f_{10} f_{25}},$$

which is equivalent to

$$\begin{aligned} 4q^8 \left( \sum_{n=0}^{\infty} \frac{(n+1) q^{5n}}{(1 - q^{50n+45})} + \sum_{n=0}^{\infty} \frac{(n+1) q^{45n+45}}{(1 - q^{50n+55})} \right) + 4q^2 \left( \sum_{n=0}^{\infty} \frac{(n+1) q^{5n}}{(1 - q^{50n+35})} + \sum_{n=0}^{\infty} \frac{(n+1) q^{35n+35}}{(1 - q^{50n+65})} \right) \\ = \frac{f_1^4}{f_2^2} + \frac{f_{25}^4}{f_{50}^2} - 2 \frac{f_1^2 f_{25}^2}{f_2 f_{50}} - 4q^5 \frac{f_5 f_{50}^3}{f_{10} f_{25}}. \end{aligned}$$

This completes the proof of (1.6).

**Proof of (1.7):** Replacing  $q$  by  $q^6$  in (3.1), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{6n} a^{-n}}{(1 - aq^{6n})^2} = \frac{f_6^6}{f^2\left(-a, \frac{-q^6}{a}\right)}. \quad (3.8)$$

Setting  $a = q$  in (3.8), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{5n}}{(1 - q^{6n+1})^2} = \frac{f_6^6}{f^2(-q, -q^5)}. \quad (3.9)$$

Setting  $a = q^2$  in (3.8), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{4n}}{(1 - q^{6n+2})^2} = \frac{f_6^6}{f^2(-q^2, -q^4)}. \quad (3.10)$$

Adding (3.9) and  $q^{\frac{1}{2}}$  times of (3.10), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{5n}}{(1-q^{6n+1})^2} + q^{\frac{1}{2}} \sum_{n=-\infty}^{\infty} \frac{q^{4n}}{(1-q^{6n+2})^2} = f_6^6 \left[ \frac{f^2(-q^2, -q^4) + q^{\frac{1}{2}} f^2(-q, -q^5)}{f^2(-q, -q^5) f^2(-q^2, -q^4)} \right].$$

Changing  $q$  to  $q^{\frac{1}{2}}$  in (2.6) and using the resulting identity on the right-hand side of the above, we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{5n}}{(1-q^{6n+1})^2} + q^{\frac{1}{2}} \sum_{n=-\infty}^{\infty} \frac{q^{4n}}{(1-q^{6n+2})^2} = \frac{f_6^4 f_3}{f_4^2 f_1} \left[ \psi^2(q) + q^{\frac{1}{2}} \psi^2(q^3) \right].$$

Changing  $q$  to  $q^2$  in the above and using (2.1) on the right-hand side of the above, we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{10n}}{(1-q^{12n+2})^2} + q \sum_{n=-\infty}^{\infty} \frac{q^{8n}}{(1-q^{12n+4})^2} = \frac{f_4^6 f_6^2 f_{12}^2}{f_2^4 f_8^2} + q \frac{f_{12}^6}{f_2^2 f_8^2},$$

which is equivalent to

$$\begin{aligned} \left( \sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1-q^{12n+10})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{10n+10}}{(1-q^{12n+14})} \right) + q \left( \sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1-q^{12n+8})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{8n+8}}{(1-q^{12n+16})} \right) \\ = \frac{f_4^6 f_6^2 f_{12}^2}{f_2^4 f_8^2} + q \frac{f_{12}^6}{f_2^2 f_8^2}. \end{aligned}$$

This completes the proof of (1.7).

**Proof of (1.8) :** Replacing  $q$  by  $q^6$  in (3.1), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{6n} a^{-n}}{(1-aq^{6n})^2} = \frac{f_6^6}{f^2\left(-a, -\frac{q^6}{a}\right)}. \quad (3.11)$$

Setting  $a = q$  in (3.11), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{5n}}{(1-q^{6n+1})^2} = \frac{f_6^6}{f^2(-q, -q^5)}. \quad (3.12)$$

Setting  $a = q^2$  in (3.11), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{4n}}{(1-q^{6n+2})^2} = \frac{f_6^6}{f^2(-q^2, -q^4)}. \quad (3.13)$$

Subtracting  $q^{\frac{1}{2}}$  times of (3.13) from (3.12), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{5n}}{(1-q^{6n+1})^2} - q^{\frac{1}{2}} \sum_{n=-\infty}^{\infty} \frac{q^{4n}}{(1-q^{6n+2})^2} = f_6^6 \left[ \frac{f^2(-q^2, -q^4) - q^{\frac{1}{2}} f^2(-q, -q^5)}{f^2(-q, -q^5) f^2(-q^2, -q^4)} \right].$$

Changing  $q$  to  $q^{\frac{1}{2}}$  in (2.6) and using the resulting identity on the right-hand side of the above, we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{5n}}{(1-q^{6n+1})^2} - q^{\frac{1}{2}} \sum_{n=-\infty}^{\infty} \frac{q^{4n}}{(1-q^{6n+2})^2} = \frac{f_6^6 f_3}{f_4^2 f_1 f_6} \left[ \psi^2(q) - q^{\frac{1}{2}} \psi^2(q^3) \right].$$

Changing  $q$  to  $q^2$  in the above and using (2.1) on the right-hand side of the above, we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{10n}}{(1-q^{12n+2})^2} - q \sum_{n=-\infty}^{\infty} \frac{q^{8n}}{(1-q^{12n+4})^2} = \frac{f_4^6 f_6^2 f_{12}^2}{f_2^4 f_8^2} - q \frac{f_{12}^6}{f_2^2 f_8^2},$$

which is equivalent to

$$\left( \sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1-q^{12n+10})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{10n+10}}{(1-q^{12n+14})} \right) - q \left( \sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1-q^{12n+8})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{8n+8}}{(1-q^{12n+16})} \right) = \frac{f_4^6 f_6^2 f_{12}^2}{f_2^4 f_8^2} - q \frac{f_{12}^6}{f_2^2 f_8^2}.$$

This completes the proof of (1.8).

**Proof of (1.9) :** Replacing  $q$  by  $q^8$  in (3.1), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{8n} a^{-n}}{(1-aq^{8n})^2} = \frac{f_8^6}{f^2 \left( -a, \frac{-q^8}{a} \right)}. \quad (3.14)$$

Setting  $a = q$  in (3.14), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{7n}}{(1-q^{8n+1})^2} = \frac{f_8^6}{f^2(-q, -q^7)}. \quad (3.15)$$

Setting  $a = q^3$  in (3.14), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{5n}}{(1-q^{8n+3})^2} = \frac{f_8^6}{f^2(-q^3, -q^5)}. \quad (3.16)$$

Subtracting (3.16) from  $q$  times of (3.15), we obtain

$$q \sum_{n=-\infty}^{\infty} \frac{q^{7n}}{(1-q^{8n+1})^2} - \sum_{n=-\infty}^{\infty} \frac{q^{5n}}{(1-q^{8n+3})^2} = f_8^6 \left[ \frac{f^2(-q^3, -q^5) - qf^2(-q, -q^7)}{f^2(-q, -q^7) f^2(-q^3, -q^5)} \right],$$

Employing (2.8) and (2.1) on the right-hand side of the above, we obtain

$$q \sum_{n=-\infty}^{\infty} \frac{q^{7n}}{(1-q^{8n+1})^2} - \sum_{n=-\infty}^{\infty} \frac{q^{5n}}{(1-q^{8n+3})^2} = \frac{f_2 f_4^4 f_8^2}{f_1^3},$$

which is equivalent to

$$q \left( \sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1-q^{8n+7})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{7n+7}}{(1-q^{8n+9})} \right) - \left( \sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1-q^{8n+5})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{5n+5}}{(1-q^{8n+11})} \right) = \frac{f_2 f_4^4 f_8^2}{f_1^3}.$$

This completes the proof of (1.9).



**Proof of (1.10) :** Replacing  $q$  by  $q^8$  in (3.1), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{8n} a^{-n}}{(1 - aq^{8n})^2} = \frac{f_8^6}{f^2\left(-a, \frac{-q^8}{a}\right)}. \quad (3.17)$$

Setting  $a = q$  in (3.17), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{7n}}{(1 - q^{8n+1})^2} = \frac{f_8^6}{f^2(-q, -q^7)}. \quad (3.18)$$

Setting  $a = q^3$  in (3.17), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{5n}}{(1 - q^{8n+3})^2} = \frac{f_8^6}{f^2(-q^3, -q^5)}. \quad (3.19)$$

Adding  $q$  times of (3.18) and (3.19), we obtain

$$q \sum_{n=-\infty}^{\infty} \frac{q^{7n}}{(1 - q^{8n+1})^2} + \sum_{n=-\infty}^{\infty} \frac{q^{5n}}{(1 - q^{8n+3})^2} = f_8^6 \left[ \frac{f^2(-q^3, -q^5) + qf^2(-q, -q^7)}{f^2(-q, -q^7)f^2(-q^3, -q^5)} \right].$$

Employing (2.7) and (2.1) on the right-hand side of the above, we obtain

$$q \sum_{n=-\infty}^{\infty} \frac{q^{7n}}{(1 - q^{8n+1})^2} + \sum_{n=-\infty}^{\infty} \frac{q^{5n}}{(1 - q^{8n+3})^2} = \frac{f_2^8 f_8^2}{f_1^5 f_4^3},$$

which is equivalent to

$$q \left( \sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1 - q^{8n+7})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{7n+7}}{(1 - q^{8n+9})} \right) + \left( \sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1 - q^{8n+5})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{5n+5}}{(1 - q^{8n+11})} \right) = \frac{f_2^8 f_8^2}{f_1^5 f_4^3}.$$

This completes the proof of (1.10).

**Proof of (1.11):** Replacing  $q$  by  $q^{12}$  in (3.1), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{12n} a^{-n}}{(1 - aq^{12n})^2} = \frac{f_{12}^6}{f^2\left(-a, \frac{-q^{12}}{a}\right)}. \quad (3.20)$$

Setting  $a = q$  in (3.20), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{11n}}{(1 - q^{12n+1})^2} = \frac{f_{12}^6}{f^2(-q, -q^{11})}. \quad (3.21)$$

Setting  $a = q^5$  in (3.20), we obtain

$$\sum_{n=-\infty}^{\infty} \frac{q^{7n}}{(1 - q^{12n+5})^2} = \frac{f_{12}^6}{f^2(-q^5, -q^7)}. \quad (3.22)$$

Subtracting (3.22) from  $q^2$  times of (3.21), we obtain

$$q^2 \sum_{n=-\infty}^{\infty} \frac{q^{11n}}{(1-q^{12n+1})^2} - \sum_{n=-\infty}^{\infty} \frac{q^{7n}}{(1-q^{12n+5})^2} = f_{12}^6 \left[ \frac{f^2(-q^5, -q^7) - q^2 f^2(-q, -q^{11})}{f^2(-q, -q^{11}) f^2(-q^5, -q^7)} \right].$$

Employing (2.4), (2.5) and (2.1) on the right-hand side of the above, we obtain

$$q^2 \sum_{n=-\infty}^{\infty} \frac{q^{11n}}{(1-q^{12n+1})^2} - \sum_{n=-\infty}^{\infty} \frac{q^{7n}}{(1-q^{12n+5})^2} = \frac{f_2^3 f_6^3}{f_1^2},$$

which is equivalent to

$$q^2 \left( \sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1-q^{12n+11})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{11n+11}}{(1-q^{12n+13})} \right) + \left( \sum_{n=0}^{\infty} \frac{(n+1)q^n}{(1-q^{12n+7})} + \sum_{n=0}^{\infty} \frac{(n+1)q^{7n+7}}{(1-q^{12n+17})} \right) = \frac{f_2^3 f_6^3}{f_1^2}.$$

This complete the proof of (1.11).

#### Acknowledgments:

The authors would like to thank Dr. K. R. Vasuki for his advice and guidance during the preparation of this article.

#### References

- [1] C. Adiga, K. R. Vasuki and N. Bhaskar, Some New Modular Relations for the Cubic Functions, *Southeast Asian Bulletin of Mathematics*, 36 (2012), 769-785.
- [2] B. C. Berndt, *Ramanujan notebooks, Part III*, Springer-Verlag, New York, 1991.
- [3] S. S. Huang, On Modular Relations for the Göllnitz-Gordon Functions with Applications to Partitions, *Journal of Number Theory*, 68 (1998), 178-216.
- [4] S. Ramanujan. Notebooks (2 volumes). *Tata institute of fundamental Research. Bombay*, 1957.
- [5] K. R. Vasuki and P. S. Guruprasad, On Certain New Modular Relations for the Rogers-Ramanujan type functions of order Twelve, *Advanced Studies in Contemporary Mathematics*, 20 (2010), No. 3, pp. 319-333.
- [6] K. R. Vasuki, *Some studies in the theory of special functions and number theory*. A thesis submitted to University of Mysore, 2000.